
BOOM British GrandPrix Category-1 (18.02.2023) - Final Individual Results

Rank Name Cat. Country Rating # Title

Round  1 - 20' Round  2 - 40' Round  3 - 60' Round  4 - 30' Round  5 - 50' Round  6 - 30' Total -
230
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1 John Nunn   s  GBR 2631.54 5 GM 5 5 5 17 5 5 26 5 5 42 5 5 17 5 5 14 5 0 30 60 146

2 Martynas Limontas LTU 2487.64 23 GM 5 5 5 17 5 5 32 5 5 51 5 5 16 5 5 29 5 0 30 60 175

3 Eddy Van Beers BEL 2628.02 6 GM 5 5 5 11 5 5 40 5 3 60 5 5 15 5 5 18 5 0 30 58 174

4 Nikos Sidiropoulos GRE 2491.28 22 IM 5 5 5 18 4.3 5 32 5 2 17 5 5 24 5 5 18 5 0 30 56.3 139

5 David Hodge GBR 2456.61 31 IM 5 5 5 6 5 5 36 5 5 24 5 0 28 5 5 14 5 0 29 55 137

6 Anatoly Mukoseev   s  FID 2397.19 50 GM 5 5 5 19 5 5 23 5 5 47 5 - 30 5 5 16 5 - 30 55 165

7 Vlaicu Crișan ROU 2244.84 99 IM 5 5 5 20 4.3 5 24 5 5 44 5 0 30 5 5 15 5 0 30 54.3 163

8 Vidmantas Satkus LTU 2398.17 48 IM 5 0 5 18 5 0 39 5 2.5 58 5 5 15 5 5 19 5 0 30 47.5 179

9 Roland Ott   s  SUI 2229.15 108 - 5 5 5 16 0 5 40 5 2.5 58 3.3 0 29 5 5 20 5 0 29 45.8 192

10 Peter van den Heuvel NED 2287.60 82 IM 5 0 0 20 4.3 0 40 5 5 60 5 5 28 5 5 30 5 0 30 44.3 208

11 Mihnea Costachi   j  ROU 2333.58 63 - 5 0 5 9 5 5 27 5 0 22 3.3 0 30 5 5 28 5 0 24 43.3 140

12 Oto Mihalčo   s  SVK 2088.90 177 - 5 0 0 19 5 5 18 5 0 40 5 - 24 5 5 19 5 - 29 40 149

13 Milan Svrček SVK 2002.99 223 - 5 5 5 20 0 0 40 5 0 60 3.3 - 30 5 5 38 5 0 30 38.3 218

14 Marek Kolčák   s  SVK 2298.24 78 IM 5 0 5 17 0 5 39 3 0 59 3.3 - 29 5 5 18 5 - 29 36.3 191

15 Tim Sheldon   s  GBR 1966.66 251 - 5 0 5 19 4.3 5 37 5 2.5 54 1.7 0 30 - - 50 0 0 30 28.5 220

16 Caspar Bates GBR 1903.96 311 - 5 0 0 19 3.1 5 39 5 2 60 0 0 30 5 0 50 0 - 30 25.1 228

17 Ovidiu Craciun ROU 1731.73 475 - 5 5 5 19 2.5 2.5 39 0 0 60 0 0 30 0 0 50 5 0 29 25 227
Main Judge: Brian Cook          Problems Selected by: Brian Cook

Problems' Difficulty (17  Solvers)
ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution)

13 S#6 1000 0.00 0 0 13 4

9 H#7.5 648 1.76 6 0 7 4

7 + 476 2.62 6 6 5 0

2 #2 412 2.94 10 0 7 0

4 #3 262 3.69 8 6 3 0

8 H#3.5 236 3.82 10 5 2 0

5 #3 206 3.97 13 1 3 0

3 #2 176 4.12 14 0 3 0

11 #6 176 4.12 14 0 2 1

10 #4 118 4.41 15 0 1 1

12 S#2 118 4.41 15 0 2 0

6 + 82 4.59 15 1 1 0

1 #2 0 5.00 17 0 0 0
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